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Uz Ustab ‘ Ureg 'min+max
T. i 1
4 v Y v uA
cr7c¢ cccp 5 480 380 400 { 20 32100
crsc CcccP 5 970 880~ 920 L4000 3100
cr9 c . CCCP 5 1320 12201238 18 10100
401 ~amer 1 750 700 7 5+ 55
402 i amer 2 ; 750 700 7 i 5= 55
1017 Ray 3 ! 800 700 15 5+ 55
1022 Ray 3 § 1100 1000 20 | 5+ 55
1037 Ray 4 1 750 700 15 5100
1038 Ray 4 930 900 15 | 5+ 55
1039 Ray 4 : 1230 1200 20 | 5100
5950 . amer 4 ‘ 730 700 11 i 5= 50
5962 Ray 3 ! 750 700 L1 5+ 55
6119 - amer —- 2050 2000 30 2= 50
6437 . Ray 4 ! 800 700 15 5--100
6438 Ray 4 l 1400 1200 20 5100
! |
Equivalents
BS 101 amer = 5962 CK 1039 Ray = 1039
CK 1017 Ray = 1017 CK 5962 Ray = 5962
CK 1022 Ray = 1022 CK 6437 Ray = 6437
CK 1037 Ray = 1037 CK 6438 Ray = 6438
CK 1038 Ray = 1038 5841 Ray = 1038
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Uﬁa/lr Ustap Ustap c'r.g'c
/ —T 7l pmpy wr
0 u
409 I?I'I'TF 925 cl"ec - 1250
375 ! 825 1200
0 20 40 60 6807(ud) 0 20 40 60 6807(uA) 0 20 40 606 680lu4
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